Exam for excellent student 
                                             Chemistry Grade 9
I. Threads:

A. Multiple choices
Choose the best answer A, B or C to complete each of the following sentences.
Question 1: ZnSO4 solution with CuSO4 impurities. Use the following metal to clean ZnSO4 solution

A.Mg

B. Fe  

C. Cu

D. Zn

Question 2: The fusion of 5.6 g and 1.6 g Fe S in environments without air solids A. 1M HCl reacts with the solid A sufficient volume of HCl used are:

A.20 (ml) 
B.200 (ml) 
C.2000 (ml) 
D.1000 (ml)

Question 3: 32 g of iron oxide completely with effects of carbon monoxide (CO), 22.4 g solids obtained.

Iron oxide which can be:

A.FeO
B.Fe2O3 
C.Fe3O4 
D.FeO and Fe2O3

Question 4: For the following materials: Fe, CuO, Al2O3, HCl, SO2, CO, CuCl2. The number of reactant withNaOH solution are:

A. 4

B. 5 

C. 6 

D. 7

Question 5: There are 3 separate vials containing the following solution: BaCl2, Ca (HCO3) 2 and MgSO4 missing labels. Can you use the following substances too simultaneously recognize both the 3 substances.

A. BaCl2 solution

B. NaOH solution
C. FeCl3 solution

D. H2SO4 solution

Question 6: Perform the following experiments:

1. NaHCO3 solution in NaOH

2. Al2O3 in NaOH.

3. Aeration SO2 in a solution of Br2.

4. FeS in HCl.

5. SiO2 in water.

Some experiments reactions were:

A. 2 
B. 3 
C. 4 
D. 5

Question 7: For the following phenomena:

1. Drinking water becomes ice in the refrigerator.

2. Fireworks light up the sky.

3. The iron wire is cut into segments and rivet.

4. Dissolve sugar in water are homogeneous solution.

5. Boiling water.

6. Electric stove red hot when plugged into the socket.

7. The bicycle rim is coated with a rust red.

8. Alcohol in bottle evaporator.

The numbers of physical phenomena are:

A. 4 

B. 5 

C. 6 

D. 7

Question 8: Which of the following experiment phenomenon born white precipitate and air bubbles escape from the solution?

A. Drip NaOH solution to a test tube containing CuCl2 solution.

B. Drip slowly in vitro H2SO4 solution available a piece of BaCO3.

C. Drip slowly BaCl2 solution into a test tube containing AgNO3 solution.

D. Drip slowly in vitro HCl Na2CO3 solution container.

Question 9: For solutions containing in separate test tubes: Na2SO4, NaHSO4, NaOH, Ba (OH) 2. Just add a chemical the following to distinguish the above solution?

A. H2SO4 solution. 

B. Ba (OH) 2solution
C. Ba (HCO3) 2 solution
D. NaCl solution

Question 10: For Al and Fe mixture reacts with a mixture containing AgNO3 solution, Cu (NO3) 2 solution obtained X and Y includes 3 solid metal. Y solids include:

A. Al, Fe, Cu 

B. Fe, Cu, Ag

C, Al, Cu, Ag 

D. Another result.

B. Writing:

Question 1 (1 point):

For 7,8g mixed metal 2 is R chemotherapy II and Aluminum reacts with dilute sulfuric acid solution, residual. When the reaction ended obtain a solution of salt and 8.96 liter 2 gas (TOR)

1) Write the equation of chemical reactions occurs?

2) Do you calculate the amount of salt obtained after the experiment and the volume of solution needed minimum 2M H2SO4?

3) Determine R. You know that in the initial mixture the molar ratio of R: Al is 1: 2
II. Answers 
A. Multiple choices 
	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answers 
	D
	B
	B
	A
	D
	C
	C
	B
	C
	B


B. Writing 
NH2 = 8.96 / 22.4 = 0.4 (mol)

1) Chemical reaction equations:

R  +  H2SO4 ( RSO4  + H2    (1) 

2Al  +  3H2SO4 ( Al2(SO4)3  + 3H2    (2)
2) Calculate the amount of salt obtained and volume of 2M H2SO4 solution:

From (1) and (2) we have nH2SO4 = NH2 = 0.4 mol

According DLBTKL we have:

Salt m = mixture mentalm + m H2SO4 metal - m H2.

= 7.8 + 0.4 x 98 to 0.4 x 2 = 46.2 (g)

Volume of solution H2SO4: V = 0.4 / 2 = 0.2 (liter)

3) Determine R

Call a is the number of moles of the metal R, the number of moles of Al 2a

According to the article have a system of equations.

AXR + 2a = 7.8 x 27

a + 3a = 0.4

Inferred: a = 0.1; R = 24 (Mg)
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